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20 30 50 3 3.16 g/cm?
2.20 g/em?
0 75 15 3 Si0,=92.3% 200000 cm2/g
2.62g/cm?® F.M.= 2.69
1 2.68 g/lcm? =0.78%
F.M.= 6.57 20 mm
2 (10x 10x 40 ) 20 13mm 13 5mm =
A
B: Ca
C:
1) D:
E:
917m 280MPa, 203200N/mm
923m 1240MPa, 201500N/mm
20+ 1 90+ 5 RH 1 mmﬁ T I b\m
- d
400 <
25
20+ 1 60+ -1
1000
5 RH —+50-0 41F+50-7.5 -&50-15 ->%30-0
28 20+ 1 60+ 5 RH 800 F *30-7.5 -0-30-15 —+-20-7.5
10x 10x 40 2 -1
28 30
2 500
JISA 1129
3 -2
2
-2 2) W/(C+SF)SF/(C+SF)|s/a (kg/m?) o
28
0 0 0 *
(%) (%) (%)W | C |SF| S G () (N/mm?)
20-7.5 20 7.5 34 115016941561528]1024 A 4.2 — 111.6
30-0 30 0 37 1160/533] 0 1638]1087 B 1.3 - 71.0
30-7.5 30 7.5 36.511601493]401625]1087 B 1.9 _ 81.5
30-15 30 15 36 1160/453180]611]1086 B 2.3 — 96.2
50-0 50 0 44 117003401 0 179411010 C 025 E 25 322
50-7.5 50 7.5 43511701315]126178111014 B 1.0 D 4.0 40.7
-3 50-15 50 15 43 11701289]1511768]1018 B_1.8 D 4.0 41.1
*E 1% D 2% (C+SF)1lkg 2cc 1A

* % AE

525-8577 1-11 TEL/FAX 077-561-2805



ooooooosso0oonooooooonoi12o0900

3
o

~
o

[y /(N/mn?)]

o
o
T

~<-50-0 LF50-7.5 -&-50-15 >30-0 |
*30-75 ©-30-15 —+-20-7.5

[y /(N/mm?]

100 200 300 400

400

-100

-4 360
-5
30%
6 -7
4. 100
T 80
E
§ 60
=40
20
1)
2)

<50-0  r50-7.5 -450-15 €30-0
1600 L LX30-75 ©-30-15 —+20-75

77
500
-5
1000 : : : :
©50-0 d50-7.5 50-15 X 30-0 [
X30-7.5 ©30-15 +20-7.5
800 = =
_ . ,
S 600 s |
B 40
400
200 — ;
B | T
o &

0 200 400 600 800 1000
M

T T K | T 100 T T E | T
©50-0 O50-75 A50-15 X30-0 |/ —_ ©50-0 O50-75 A50-15 X30-0 I/
X30-75 ©230-15 —+20-75 = X30-75 ©3p-15 +20-75
= £ 80
g .
=z .
- — Z60 " 1
) = - f T4
M = LA
-
20
0 20 40 60 80 100 0 20 40 60 80 100
[ 7(Nfmm?)] (b 7/(N/mm3]

,PP.209-210,1994
, 48 11  pp1263-1268,1999

0-278



	kyotsu: 　　土木学会第55回年次学術講演会（平成12年9月）
	No: Ⅴ-278


